
Алгоритм исследования функции
№ Свойства функции У = f(x) Пример:  f(x) = x 4 -10x2 + 9

Область
определения 0 ( f )

2 Множество
значений Е( f ) E ( f ( x ) ) = [ -  16;+оо)

Четность а) f(—x) = - f (x )  -  нечетная
б) f ( -x )  = f(x) -  четная

f ( - X) = ( - X)4 - Ю ( - х ) 2 + 9 = 

= х 4 -1 Ox2 + 9 -  четная

Периодичность: f(x + T) = f(x), тле  Т -  
п е р и о л  ф у н к ц и и

Не периолическая

Точки пересечения 
с осями 
координат:

а) с  осью O x  f(x) = 0

б) с  осью О у :  f(0)

а) Нули ф у н к ц и и :
х4 -10х2 + 9 = 0, x2 =t, t>0  

f2 -] Of + 9 = 0

x, = 3 (3; 0)

(-3:0)

0: 0)

i П ;0 )
б) f(0) = 04 -10-02 + 9 = 9 (0: 9)

t ,=9 

t2= 1
x2 = -3

Промежутки
знакопостоянства:

а) f(x) >0

б) f(x) < 0

а) f(x) > 0:
x4 - IOx2 +9 >0 

(x-3)(x + 3)(x-l)(x + l) >0

+ — H- — -b
l l l l l l ? ------- ^ 7777̂ -------- fTT77^x

x  e f-oo; —3)v j (— 1; 1) и  (3; + со)
б) f(x) <0:
x4 - IOx2 +9<0  

(x-3)(x + 3)(x-l)(x + l) <0

- 3 - 1  1 3 x
x  e (-3; -1)<j  (]; 3)

Производная
Ф у н к ц и и :

f'(x) f'(x) = 4x3 -2 0 x

8 Критические точки: f'(x) = 0 4x3 -  20x = 0 

4x(x2 -  5) = 0 
x, = 0 

x 9 = y[5

x3 = -J~5

9 Монотонность:

а) возрастание

б) убывание

а) f'(x) > О

б) f'(x) < О

a) f'(x) > О 
4х3 -  20х > О 

4х ( х - у [ 5 ) ( х  + 4 5 ) > О

+
х

-л/5 О V5

[ - V 5 ;  0] и fV 5 ; + со) -  п ро м е ж утки



№ Свойства функции У = f(x) П р и м е р :  f (x )  = х 4 -  10х2 +9
возрастания функции; 
б) f'(x) < О
4х3 -  20х < О

4х(х -  у[5)(х + < О

Г(х)
Т Г Т Ж г. л т т ,К -

-л/5 О V5

(-<*>; -  V5J и [0; -J5] -  промежутки  
убывания функции;_____________

х

10 Экстремумы:

а) максимумы

б) минимумы

) (X/nax' m̂ax)

б) (Xmjn, fmjn)

Х„

=  0 ;  fmax = f(0) = 9 

xm h = j 5 :  U  = f ( j 5 l  =  - 1 6

= -4 5 : fmh=fl^fS) = -16

x„

Точки перегиба 
Ф у н к ц и и :

Вторая произволная: 
f"(x); f"(x) = 0

Г ( х )  =  ( 4 х 3 - 2 0 х /  =  12х2 - 2 0  

12х2-2 0  = 0

х / л/ 3  х 2 -уз

-10

-10

44
+  9 =  - —  

9
л2

+  9 =  -

44

12 Выпуклость и 
вогнутость:

Г(х) > 0 -  выпуклость 
вниз

Г(х) < 0 -  выпуклость 
вверх

12х2 -20>0 12х2 -2 0  <0
(

х  -

Построение
графика: ю


